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I. (@) Which steps are advisable to considered, for tax planning ? Explain. 7
OR

On the basis of which factors, taxability of total income of ‘an asscssec 8
determined ? Discuss.

(b) Attempt any two from the following :
(1)  Describe any four objectives of taxes,
(1)  Explain tax evasion.
(1)  What is previous year ?

(¢) Answer the following :

(1)  What are the types of residential
(1)  What is very senior citizen ?

(ili) How many slabs of tax appw;

2. Shriman Ankit regularly vigits England. He is Indian citizen. Information pertaining, to
his stay in India is as follows ;

Stay in India
Previous Years - /Months of Stay
2011 - 12 April, May, Junc
2012-13 April, May, June
2013 - 14 April, May, June
2014 -15 April, May, June
2015+ 16 April, May, June

During 2015-16 voluntarily he has decided to go abroad on 2-7-15. But his

tax consultant has advised him to go abroad on 30-6-2015. He had left
B ad left for abroad on

f_*‘rnm your viuw point, whether advise of tax consultant was appropriate ? Why ?
On this basis of his incomes which are given

. below evaluate advise of tax consultant.
Wh;t?k‘:nd of difference would arise in your answer if he had gone to abroad every year
on2/7°

Incomes :

(1) Income of Foreign bond, 50% amount received in India 2 2,50,000,
(2) Agriculture income of Burma ¥ 1,70,000.

NC"I ] 1 ? P-lT-Ol
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(3)
(4)
(5)
(6)

(a)

Income from property of England, receiV
Income of Business of Japan, controlled from 1
Income of Business of Russia, controlled from
Profit on sale of house property situated

< 3,00,000.

Hm:f and how much tax liability of S
advice of tax consultant ? Explain.

Tax Slabs : 10.3% 20.6% 30.9%
Previous Year 2015 - 16; Assessment year 2016 — 17.

OR

od in India T 4.30.000-
dia % 2,80,000.
(ndia Z 1,20.,000.

in India, 1

hriman Ankit would have redu

Discuss deemed ownership in the context of income from house property-

OR
Shri Himanshu is owner of two house. Information related to it 1s as ! follows :
. House — A |(House—B
Particulars 7 -

Municiple Valuation 4,00,000 2,80,000
Fair Rent 5,20,000 3,40,000
Standard Rent 424000 4,00,000
Total Local taxes (20% outstanding) i 40,000 30,000
Fire Insurance | 4,000 4,000
Land revenue 6,000 6.000
Interest on Loan for construction 60,000 25,000

His other estimated taxable incomeis ¥ 11,50,000. His expected investment under
section 80 C is ¥ 1,20,000. These incomes are for previous year 2015-16. What
kind of planning he should undertake, so that his tax liability can be minimized.

(b) Attempt any two from the following : ,
(1) Explain provisions pertaining to education allowance.
(2) State typesof capital assets.
(3) . What isdeposit scheme ?

NC-111
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Answer the following :

(1) What is the maximum limit of Section 80 C for previous year 2015-16 ?

(2) Section 24(a) stands for what ?
(3) Section 54 stands for what ?

For the purpose of lo
options as follows for
option is advisable from tl:nc v

follows : :

(1) Total investment X | Cl'Dl'e g
5%.

(2) Expected rate of return 2
(3) Interestrate 12%.

ng term investment Finance Manager has developed three
procurement of funds. You have to determine, thp:t which
iew point of equity shareholders, Information is as

7



(4) Dividend payment 100%.
(5) Tax rate for company 30.9%.
(6) Dividend distribution t2x 24.325%.
(7)  Three options |
(a) 100% through equity fund. o
(b) 70% through equity fund znd 307 through d‘.’:?"ﬂf#ﬁ.
(¢) 30% through equity fund znd 707 through Geroine.
OR
Explain classification of Companies zs per Income Tzx A2, 1961.

(b) Explain bonus share and tax planning from the view point of sharghidas. -
What kind of taxes af?;l the decision of capital structire ”? How 7

(¢) Explain objectives of merger. 3
whatis demeners  WWW.CIgsStudy.hlogspot.com

4, {‘;{ cnm;;any limited has explored two options for long ferm investment in fhe context of
uy or lease. '

Option - | -
(1) To purchase machinery for 2 110 1akhs, |
(2) Scrap value after useful life of 5
(3) Straight line method of depreciation
(4) T 60 lakhs will be borrowed from bank 2
equal instalments at the énd of cach year,
Option - 1]
(1)  Machinery to be acquired on rent and will be pzid zs P& gven terms. (See
following table)
(2) Processing charge will be T 2 Jakhs and will be paid 2t the time of agreement.
Table

Years t,
Particular

Rent (% lakhs 10
- MR 1%
Ment value @ 12% of 1 Re. | 1
::fmﬂnn + Corporate tax rate is 30%,
hich option should be executed by the company ?
OR

. ~of Shri Vedant for previous year 2015-16 will be
amount of advance tax pe s}-:wmmﬁﬂt under s?dion 80 C 1s T 1.20,000. Whee

i<

4
ﬁw

1._"'

est of 12% and repavzble m Gve

(b) Explain provisions of advarlec:ﬂ unf:ler — bk <

(c) Explain sii,miﬁcance of inter tax for Company.assessee. -

NC-111 ¢st and depreciation for managerial decisions. 3
9 P.T.O.




5.  Select correct option for each of the following questions :

(1)

(11)

(iv)

(v)

14

There can be negative net annual value when.

(a) Interest on borrowed capital is more than gross annual value.

(b) Standard deduction is more than gross annual value.

(¢) Municiple taxes paid are more than gross annual value.

(d) Deduction under section 24(a) and 24(b) is more than gross annual value.
For which of the following, income from house property 18 not chargeable to fax ?
(a) Farm house 1

(b) Property held for Charitable purpose

(¢) Self occupied house

@ Allofmesbove  WWW.cClgstudy.blogspoticom

What is not exception of Capital asset ?
(@) Any stock in trade (b) Personal effect
(c) Agricultural land in India (d) Jewellery

Basis of capital gain tax are
(a) Capital asset owned by the assessee.
(b) Transfer of capital asset in previous year.

(c) Excess of consideration over acquisition cost:
(d) All of the above

An assessee has two children afd staying‘in hostel for education, what will be
exempted expenditure if he has actually paid ¥ 14,400

(a) 7,200 Q. U - (b) T 14,400 ‘
(c) 9,600 R “arigd (d) Noneoftheabove @ - i,
Profit eamed in edrlier years of London and remitted to India during previous year

Z 3,00,000 is taxable to

(a) Resident

(b) Residentbut not ordinary resident.
(c) Nondtesident *
()" Noneof the above

(e)  All of the above

'(Vii)r Replacement of an asset IS

(a) «Capital expenditure and depreciation on it can be claimed,
(b) Capital expenditure and nothing can be claimed.

(c¢) Revenuc expenditure and nothing can be claimed.

(d) None of the above

(viii) In the scheme of amalgamation capital gain tax is not applicable to

- NC-111

(a) Indian amal gamated company
(b) Indian amal gamating company
(c) Foreign amalgamated company (Except exception)
(d) Foreign amalgamating company
10
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(1x)

(x)

(x1)

(xi1) Advance tax is payable, provided it is (as per I'T

(xii1) Deduction u/s 80 C is allowed fro come computed of ____

(xiv) For previous year

www.clgstudy.blogspot.com

A
lﬁ‘f:f)mfa“}’ has camed profit after tax T 11,16,223. Assume tax on dividend is
-223%. What will be tax free dividend ?

(@) T9.604]5 (b) ¥8.60415
(€) 950415 (d) None of the above

A total expected income of Mr. X for previous year 2015-16 will be X 1 Jf :

His savings under section 80 C will be of ¥ 2.00.000. What will be his
for P.Y. 2015-16 2

(a) ¥ 1,44,200 (b) % 1,28,750
(c) < 1,40.000 (d) None of the above

For non-company assessee and company assessee,
instalments are respectively

(a) 3and4 (b) 4and3
(c) 4and4 (d) 3and3

(@) 10,000 (b) | more :
(c) < 15,000 “the ve

(a) anindividual
(b) an individual and HUF
(¢) anindividual, HUF an
(d) All types of

id T 20,000 for mediclaim insurance for his family
and paid ¥ 26,00 is parents. He will be entitled for deduction of

(a) T 50, (b) 46,000
(c) T45 (d) None of the above




